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1 | [mEREsERORE)
ROFEZ LT, (1%6)

(1) 5x(2x +y)

R A B

~HAGHEABICERD 2~

Name

(2) (—a —4b) x (=7¢)

(3) 2x(3x —y + 2)

(4) (x + 2y +5) x (—3x2)

(5) (—%m + n) x 12m

2

6) (Ja+3b-¢)x3a

(HIER & SIERDIRIE]

2 ROFHEEZ L7 Xy, (1ix6)

(1) (a®>+7a) ~a

(2) (9x2%y —12xy?) =+ 3x

(3) (2ap + 5bp) + %p

4) (6x?%y —8xy?) + (—%xy)

(5) (—=21x3 + 14x2 — 42x) + (=7x)

(6) (%azb—éab2 +%ab) =

ab
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1 [HIFT & ZIEROMAI]
ROFEZE LRI\, (14x10)

(1) 3x(2x — y) + 4x(x + 5y) (2) 2x(4x —3) + 6x(x — 5)
(3) 3a(a—3b) —a(7a + b) 4) 5x(2x —y) — (9x%y — 12xy?) + (—=3y)
(5) 8a(%a+2b)—9a(a—%b) (6) %(—2m+8)+%(3m—5)

2 2 2_rta2
(7) x +23y + 4x 35y

2 2
() 2x 3y+4 + 5x +42y 6

10) 3m(m—-5n)  m(2m+n)
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1 | [BEROR®)
ROFEZ LT, (1%6)

(1) (a+x)(b+y) (2) (x —3a)(y — 2a)
(3) (x%2 —y)(x + 3y?) (4) (m —0.4)(2m — 0.5)
5) (x+y—2)(x+5) (6) (a®> —4)(3a®> —2a—1)

2 {(x-i—a)(x+ b)BY]
ROETHEZ LR E W, (114%6)

(1) (x+1D(x+3) 2) y=3)(y-5)
(3) (a+8)(a—2) 4) (t=3)(t+9)
(5) (x+3)(x +0.4) (6) (x+%)(x+%)

© H#HABEL https://min-pri.com


https://min-pri.com/chu3mathbasic-1-1-3-answer/

0 3 #EE~ B R~ BTV~

@

©HIRES
$1E Nt 10

() 2ERD:HE Part4

1 [(x + a)?, (x — a)?BY]
ROFHEE LR &\, (141%6)

(1) (x+ 4)?

R A B

~HAGHEABICERD 2~

Name

(5) (2p — q)*

2 [(x +a)(x — a)B]
ROFEE LRSI W\, (4 sixe)

(1) (x+8)(x—18)

(3) (2x +3)(2x —3)

6) (c+ ) —3)

(2) (a+ 2b)?

4) (x —5)2

(2) (a+11)(a—11)

(4) (4m —5)(4m +5)

©) (5x - 3)(5x+3)
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() zERDtE Parts = 8 &

1 | mansnmm)
ROFEZ LT v, (1ix4)

(1) (@a=3)(a+7) - (a+5)? 2) 3(x—4)?+(x+D(x—-1)

(3) 5(m+3)(m—-3) - Bm+1)(3m —4)

(4) 2(5x — 2)(5x + 4) — 8 (x - % )2

2 {Eﬂ§?$Wﬁ?§mEﬁ]
ROFHEEZ L7 Xy, (1x4)

(1) (x— 2y —5)2 2) (x—y+8)(x+y—8)

B) (x+y+2)(x+y+3)—(x+y+5)x+y)

4) Qa+b—-c)+(@+b—-c)a—b+c)
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